New Jersey Institute of Technology Digital Commons @ NJIT

Theses

**Electronic Theses and Dissertations** 

6-30-1954

# Heat capacities of ethane over a wide range of temperature and pressure

Thomas Agens Reiter New Jersey Institute of Technology

Follow this and additional works at: https://digitalcommons.njit.edu/theses

Part of the Chemical Engineering Commons

#### **Recommended Citation**

Reiter, Thomas Agens, "Heat capacities of ethane over a wide range of temperature and pressure" (1954). *Theses.* 2271. https://digitalcommons.njit.edu/theses/2271

This Thesis is brought to you for free and open access by the Electronic Theses and Dissertations at Digital Commons @ NJIT. It has been accepted for inclusion in Theses by an authorized administrator of Digital Commons @ NJIT. For more information, please contact digitalcommons@njit.edu.

# **Copyright Warning & Restrictions**

The copyright law of the United States (Title 17, United States Code) governs the making of photocopies or other reproductions of copyrighted material.

Under certain conditions specified in the law, libraries and archives are authorized to furnish a photocopy or other reproduction. One of these specified conditions is that the photocopy or reproduction is not to be "used for any purpose other than private study, scholarship, or research." If a, user makes a request for, or later uses, a photocopy or reproduction for purposes in excess of "fair use" that user may be liable for copyright infringement,

This institution reserves the right to refuse to accept a copying order if, in its judgment, fulfillment of the order would involve violation of copyright law.

Please Note: The author retains the copyright while the New Jersey Institute of Technology reserves the right to distribute this thesis or dissertation

Printing note: If you do not wish to print this page, then select "Pages from: first page # to: last page #" on the print dialog screen



The Van Houten library has removed some of the personal information and all signatures from the approval page and biographical sketches of theses and dissertations in order to protect the identity of NJIT graduates and faculty.

#### HEAT CAPACITIES OF ETHANE

#### OVER A WIDE RANGE OF TEMPERATURE AND PRESSURE

BT

THOMAS A. REITER

#### A THESIS SUBMITTED TO THE FACULATY OF THE DEPARTMENT OF CHEMICAL ENGINEERING OF NEWARK COLLEGE OF ENGINEERING

.

#### IN PARTIAL FULFILLMENT OF THE REQUIREMENTS FOR THE DEGREE

OF

MASTER OF SCIENCE IN CHEMICAL ENGINEERING

NEWARK, NEW JERSEY

.

.

1954

## APPROVAL OF THESIS

#### FOR

DEPARTMENT OF CHEMICAL ENGINEERING NEWARK COLLEGE OF ENGINEERING

BY

#### FACULTY COMMITTEE

APPROVED:

NEWARK, NEW JERSEY

JUNE, 1954

## ACKNOWLEDG EMENT

The writer wishes to thank Joseph Joffe for his help and guidance in the preparation of this thesis.

## TABLE OF CONTENTS

Page
------

Summery	1
Introduction	2
Derivation of Equations Used in Calculations	9
Method of Calculation	14
Discussion of Results	19
Notation	64
References	65

LIST OF FIGURES

			* *	13.00
Figure	l	**	The Effect of Pressure on the Isobaric Heat Capacity of Vthane Relative to the Ideal Gas State at Various Pressures	28
Figure	2	-	The Effect of Fressure on the Isobaric Heat Capacity of Ethane Relative to the Ideal Gas State at Various Pressures (Enlarged-Low Pressures.)	29
Figure	3	*	The Effect of Temperature on the Isobaric Heat Capacity of Ethane Relative to the Ideal Gas State at Various Pressures	30
Figu <b>re</b>	4	••	The Effect of Temperature on the Isobaric Heat Capacity of Ethane Relative to the Ideal Gas State at Various Pressures (Using the Generalized Correlation of Edmister)	31
Figure	5		The Effect of Temperature on the Isobaric Heat Capacity of Ethane Relative to the Ideal Gas State at Various Pressures (Comparison with Experimental Data)	32
Figu <b>re</b>	6	***	The Effect of Pressure on the Isobaric Heat Capacity of Ethane at Various Temperatures	33
Figu <b>re</b>	7	-	The Effect of Temperature on the Isobaric Heat Capacity of Ethane at Various Pressures	34
Figure	8		The Effect of Temperature on the Isobaric Heat Capacity of Ethane at Various Pressures	35
Figure	9	••	The Effect of Pressure on the Constant Volume Heat Capacity of Ethane Relative to the Ideal Gas State at Various Temperatures	36

Page

	_	P	ag <b>e</b>
Figure	10	- The Effect of Temperature on the Constant Volume Heat Capacity of Ethane Relative to the Ideal Gas State at Various Pressures	37
Figu <b>re</b>	11	- The Effect of Pressure on the Constant Volume Heat Capacity of Ethane at Various Temperatures	38
Figure	12	- The Effect of Pressure on the Ratio of Heat Capacities of Ethane at Various Temperatures	39
F <b>i</b> gu <b>re</b>	13	<ul> <li>The Effect of Temperature on the Ratio of Heat Capacities of Ethane at Various Fressures</li></ul>	40
Figure	14	- The Effect of Temperature on the Ratio of Heat Capacities at Various Pressures (Using General- ized Correlation of Edmister.)	41

,

LIST OF TABLES

Table	1	- Sample Calculations page 42
Table	2	- Constants for Use in Benedict-Webb-Rubin Equation of State
Table	3	- Calculated Data (Using Benedict et. al.
		Constants - Reference 15) page 51
Table	4	- Calculated Data (Using Barkelew et. al. Constants - Reference 16)
Tabl <b>e</b>	5	- Calculated Values of $c_p - c_p^*$ , $c_p$ , and $c_p / c_v$
		for Ethane from Edmistor Generalized Correla- tion
Table	6	- Values of $e_p$ and $e_p - e_p^*$ of Ethane from Exper-
		imental Data page 60
Table	7	- Values of Isobaric Heat Capacity of Ethane in the Ideal Gas State for Various Temperatures.
		**************************************

#### SUMMARY

The effects of pressure and temperature on the isobaric heat capacity, the constant volume heat capacity, and the ratio of heat capacities of ethane are presented. The range of conditions covered are pressures from 0 to 10,000 psia and temperatures from 150 to 1400°F. The calculation of these effects is based on equations derived from the Benedict-Webb-Rubin equation of state. The derived equations express the deviations of the heat capacities from ideal gas behavior.

The results show that ignoring the effect of pressure on the heat capacities of othane may lead to large errors in engineering calculations. Graphs and tables are presented to permit an evaluation of the heat capacities over the range investigated. Comparisons are made with data of previous investigators, and relative accuracies are discussed.

#### INTRODUCTION

Light hydrocarbons are coming into increasing commercial use, especially in the petrochemical industry. For example, raw materials are being obtained for alcohol and polymer production from the pyrelysis of petroleum gases to produce light unsaturated hydrocarbons. Typical operating conditions in this process include 1200°F and 50 psig in the furnaces and 150°F and 350 psig at the compresser discharge prior to cooling and fractionating (1). Thus it can be seen that such processes are extending the ranges of temperatures and pressures where accurate thermodynamic properties should be known. The purpose of this paper is to help fill one of the gaps in the available thermodynamic properties by extending the heat capacity data on ethane into the high temperature and pressure range.

Similar investigations of the effect of pressure on the heat capacity of light hydrocarbons have been made in the past. For example, Sledjeski (2) has determined the effect of pressure on the isobaric heat capacity of methane in the temperature range from 75°F to 1400°F. Seifarth and Joffe (3) also reported on the isobaric heat capacity of propane over a range of temperature of 200°F to 1350°F and a pressure range of 100 to 10,000 psia. The present paper helps complete such data on light hydrocarbons by adding ethane to the list of compounds investigated. Generally, previous investigations into the heat capacity of ethane have been limited to the liquid and lew temperature or low pressure gaseous range. For example, Dailey and Felsing (4) determined, by means of an adiabatic flow calorimeter, the isobaric heat capacity of ethane from 75-330°C at low pressure. Eucken and Weigert (5) report values of the isobaric heat capacity at one atmosphere from 70°F to 220°F. Wiebe, Hubbard, and Brevoert (6) determined with a standard calerimeter the heat capacity of saturated liquid ethane from the beiling point to the critical temperature (90°F). Numerous studies have been made on the ideal gas isobaric heat capacity by spectrescepic and statistical methods as part of the investigations of molecular structure and bond energies. Pitzer (7) has done work in this latter field.

The American Petroleum Institute's Research Project 44 (8) involved taking all the above data and similar data from other sources and determining the most accurate values for the thermodynamic properties. Included among the data reported, is the ideal gas state isobaric heat capacity from 0°F to 2200°F. These values are under constant revision to obtain the highest accuracy possible. Therefore, this present paper has included expressions of the deviations of heat capacities from the ideal gas state. In the future, the heat capacity at actual conditions can be found accurately by adding the deviations reported here to the latest ideal gas values.

The primary source of experimental data that gives the effect of pressure on the isobaric heat capacity of ethane in any part of the range of temperatures covered in this work has been reported by Sage, Webster, and Lacey (9). These authors report the heat capacity from 50°F to 250°F and from 14.7 to 1500 psia in graphical form. The tabulated form was used to present the same data in an article by Sage. Budenholzer, and Lacey (10). The isobaric heat capacity data were based in part on measurements of the Joule-Thomson coefficients at pressures from atmospheric to 600 pounds per square inch fer five temperatures between 70° and 220°F. The additional basis for the Sage et. al. data was graphical differentiation of the isobaric lines on a temperature-heat content curve. The data from the two sources. Joule-Thomson and graphical, are compared and seem te agree, at least for the 600 psia isobar shown. The Joule-Thomson isobaric heat capacity was only slightly lower than the graphical data at temperatures from 175 to 250°F indicating that possibly the graphical values are high. No data was reported above 250°F.

Edmister has developed a generalized correlation for obtaining thermodynamics properties of hydrocarbons (11,12,13,14). The generalized method of determining properties was based on a new correlation of available P-V-T data using a graphical reduced equation of state. This type of correlation is valuable, especially when large

amounts of data are used in its development. It is useful for determining values of properties when no other data are available, but must be used with caution and should be checked when data do become available. The properties that may be determined by the Edmister generalized correlation include: the effect of pressure on the isobaric heat capacity,  $c_p-c_p^*$  (11,12,13); the difference between the actual isobaric heat capacity and the constant volume heat capacity,  $c_p-c_v$  (12); and the ratio of actual specific heats,  $c_p/c_v$  (12,14). From the above data plus values of the ideal gas isobaric heat capacity from Reference 8, it is also possible to evaluate the actual constant volume heat capacity.

To extend the work of previous investigators, several methods were considered. The generalized correlation of Edmister might be extrapolated, but without corroborating data it was felt that this might give inaccurate results. Direct extrapolation of experimental data is possible. This was ruled out because of the extreme lack of data and wide range of temperatures and pressures to be covered. The other method, that of evaluation of thermodynamic properties from an equation of state, was selected.

Several of the many equations of state were considered. The Van der Paals equation, while being one of

the simplest and well known equations, would not give accurate enough values. The Berthelot equation, which is an improvement on the Van der 'aals, and has been used to correct atmospheric  $c_p$  data to ideal gas state (4), also would not give the desired accuracy. The Beattie-Bridgeman equation might be accurate enough for application in this work. However, the Beattie-Bridgeman equation was not developed to reproduce P-V-T data of gases in the critical region. Thus, the equation selected for this work was the Benedict-Vebb-Rubin equation of state (15).

The Benedict-Webb-Rubin equation was developed primarily for hydrocarbons. In the same manner as the Van der "aals equation, it assumes that one equation can represent both the liquid and gas phases. The cuthors have stated that the equation can be regarded as a modified form of the Beattle-Bridgeman equation with more constants for increased accuracy. It is applicable up to gas densities equal to 1.8 times the critical density. The average error in calculated pressure up to this density is only 0.34 per cent. Beyond this range the calculated values are high. Further improvements in accuracy would have required several more parameters or constants. It is believed that the Benedict-Nebb-Rubin equation is the most accurate equation applicable to the calculation of heat capacities available to date. The constants for use in the equation were reported in Reference 15. The Benedict-"ebb-Rubin equation is readily applied since it may be

differentiated and integrated with respect to density or volume and temperature.

Barkelew, Valentine, and Hurd (16) in 1947 used the Benedict-"ebb-Rubin equation to construct a pressureenthalpy curve in the range of 0 to 500°F and 10 to 1500 In doing this work, the authors determined a new psia. set of constants to represent more accurately the volumetric data by including data made available since the original constants were determined in 1940. The new constants reproduce the data between 100°F and 460°F and up to 1500 psia. As indicated later in this paper, these new constants have been considered in the calculation of the heat capacities. Barkelew, Valentine, and Hurd (16) reported that a comparison of their temperature-enthalpy curves with the graph of Sage, Webster. Lacey (9) reveals that the actual vapor enthalpy minus the enthalpy at zero pressure differed by as much as 6 Btu per pound at high pressures. Sage et. al. values were on the low side. Edmister (11) also noted that the Sage et. al. pressure correction to the enthalpy was lower than his method would predict at high pressure. Barkelew et al. believed that this discrepancy resulted from differences in volumetric data used as a basis. The authors pointed out that enthalpies based on the saturated volumes would be questionable due to the difficulties in obtaining accurate data.

The method of application of the Benedict-'ebb-Rubin equation of state to the determination of heat capacity on ethane follows.

#### DERIVATION OF EQUATIONS USED IN CALCULATIONS

The equation of state presented by Benedict, Webb, Rubin (15) is as follows:

 $P = RTd + (B_0 RT - A_0 - C_0/T^2)d^2 + (bRT - a)d^3 + aad^6 + \frac{cd^3(1 + ad^2)e^{-0d}}{T^2}$ (1)

in terms of density, d, moles/unit volume.

Rewritten in terms volume, V, the equation is

 $P = \frac{RT}{V} + (B_0 RT - A_0 - C_0/T^2) / V^2 + (bRT - a) / V^3 + a \alpha / V^6 + \frac{c(1 + 8/V_2)e^{-\delta t/V^2}}{(1/3)T^2} (2)$ 

The above equations are explicit in pressure; therefore, to simplify subsequent calculations, the derived equations will be explicit in pressure also. For an ideal gas it has been established that

 $C_{p}^{*}-C_{v}^{*}=R \qquad (3)$ 

$$C_p^* = C_v^* + R \tag{4}$$

Subtracting (4) from both sides of  $C_{\rho}=C_{\rho}$ , the following is obtained:

 $C_{\rho} - C_{\rho}^{*} = C_{\rho} - C_{\nu}^{*} - \mathcal{R}$  for an actual gas. (5) Adding and subtracting  $C_{\nu}$  on the right-hand side of (5)

$$C_{\rho} - C_{\rho}^{*} = C_{\rho} - C_{\nu}^{*} - R + C_{\nu} - C_{\nu}$$
  
or  
$$C_{\rho} - C_{\rho}^{*} = (C_{\rho} - C_{\nu}) + (C_{\nu} - C_{\nu}^{*}) - R \quad (6)$$

is obtained.

The terms  $(C_{\rho} - C_{\nu})$  and  $(C_{\nu} - C_{\nu}^{*})$  are now evaluated from thermodynamic relationships. The following relationships have been derived in texts on thermodynamics (17, p. 473 Equation 90):

$$C_{p}-C_{\nu}=-T\left(\frac{\partial P_{\partial T}}{\partial r}\right)_{\nu}^{2}\left(\frac{\partial V_{\partial P}}{\partial \rho}\right)_{T}=-T\left(\frac{\partial V_{\partial T}}{\partial r}\right)_{p}^{2}\left(\frac{\partial P_{\partial V}}{\partial \rho}\right)_{T}$$
(7)

Since by definition,  $(\partial V/\partial P)_{T} = \frac{1}{(\partial P/\partial V)_{T}}$ , (7) above may (8)

be written

$$(C_p - C_v) = \frac{-T(\partial P/\partial T)v}{(\partial P/\partial v)_T}$$
(9)

The expression  $(\partial P/\partial \tau)_{V}$  is obtained by differentiating equation 2 with respect to temperature at constant volume. The result is

$$\begin{pmatrix} \frac{\partial P}{\partial T} \end{pmatrix} = R V^{-1} + B_0 R V^{-2} + 2C_0 V^{-2} T^{-3} + 6R V^{-3} \\ -2c V^{-3} T^{-3} (1 + \delta V^{-2}) e^{-\delta V^{-2}}$$
(10)

The expression  $(\partial P/\partial V)_{-}$  is obtained by differentiating equation 2 with respect to volume at constant temperature. The result is

$$\frac{\partial P}{\partial V}_{T} = -RTV^{-2} - 2V^{-3}(B_{o}RT - A_{o} - C_{o}T^{-2}) - 3V^{-4}(bRT - a)$$
  
-6aaV^{-7} - 3cV^{-4}T^{-2}e^{-\partial V^{-2}} - 3\sigma eV^{-6}T^{-2}e^{-\partial V^{-2}}   
+28<sup>2</sup> eV^{-8}T^{-2}e^{-\partial V^{-2}} (11)

Equation 9 is now expressed by substituting from equations 10 and 11. The resulting expression after collecting terms is:

$$C_{P}C_{V} = \frac{-T \left[\frac{RV^{-1} + B_{0}RV^{-2} + 2C_{0}V^{-2}T^{-3} + bRV^{-3}\right]^{2}}{(-2 + V^{-3}T^{-3}(1 + v^{-2})e^{-v^{-2}}V^{-2}}\right]^{2} (12)$$

$$C_{P}C_{V} = \frac{-RTV^{-2} - 2V^{-3}(B_{0}RT - A_{0} - C_{0}T^{-2}) - 3V^{-2}(bRT - a)}{(-6aaV^{-2} + e^{-8V^{-2}}(-3kV^{-4}T^{-2} - 3k^{-6}T^{-2})} (12)$$

$$(12)$$

$$+ 2k^{2}T^{-2}V^{-8}$$

Thus the first term on the right-hand side of equation 6 has been expressed in terms of T and V with the Benedict-Webb-Rubin constants and the Universal Gas Constant.

The next term  $C_{\nu} - C_{\nu}^{*}$  is evaluated in the same terms. From Reference 17 p. 473, Equation 94, the fol-

$$\left(\frac{\partial C_{\nu}}{\partial V}\right)_{T} = T \left(\frac{\partial^{2} P}{\partial T^{2}}\right)_{V}$$
(13)

or in another form

$$C_{\nu} - C_{\nu}^{*} = \int_{\infty}^{\nu} \left( \frac{\partial^2 P}{\partial \tau^2} \right)_{\nu} dV \qquad (14)$$

The second derivative of P with respect to T at constant V is obtained by differentiating equation 10, with respect to T at constant V.

$$\left(\frac{\partial^2 P}{\partial T^2}\right)_{\nu} = -6C_0 V^{-2} T^{-4} + 6c V^{-3} T^{-4} (1 + 8V^{-2}) e^{-8V^{-2}} (15)$$
  
or

Equation 15 substituted into equation 14 and rearranging terms gives

$$C_{\nu} - C_{\nu}^{*} = \int_{0}^{\nu} 6T^{-3} (eV^{-3}e^{-VV^{-2}} + VV^{-5}e^{-VV^{-2}} - C_{0}V^{-2}) dV \qquad (16)$$

Separating equation 16 into individual integrals gives  $C_{\nu} - C_{\nu}^{*} = 6cT^{-3} \left( (v^{-3}e^{-\partial V^{-2}}) dv + 6cT^{-3} v \right) \left( (e^{-\partial V v^{-2}} - 5) dv - 6(c_{0}^{*} T^{-3}) \left( v^{-2} dv - 2 v^{-2} dv - 6(c_{0}^{*} T^{-3}) \right) dv$ (17)

The series of integrals in equation 17 are evaluated and

the terms are collected to give

$$C_{\nu} - C_{\nu}^{*} = 6 c T^{-3} \left[ s^{-i} e^{-s \nu^{-2}} + \nu^{-2} e^{-s \nu^{-2}} \right]_{2}^{\nu} + C_{0} e^{-i \nu^{-1}} \int_{0}^{\nu} (18)$$

Substituting limits gives  

$$C_{\nu} - C_{\nu}^{*} = 6 - \tau^{-3} \left[ \gamma_{e}^{*} - \beta V_{+}^{2} V_{e}^{-\beta V_{+}^{2}} + C_{0} - \gamma_{e}^{*} V_{+}^{2} V_{e}^{-\beta V_{+}^{2}} \right]$$

$$- 6 - \beta^{-1} \tau^{-3}$$
(19)

Equations 19 and 12 are substituted into equation 6 to

give

$$\begin{bmatrix}
 \mathbf{R}\mathbf{V}^{-1} + \mathbf{B}_{0} \mathbf{R}\mathbf{V}^{-2} + 2C_{0}\mathbf{V}^{-2}T^{-3} + \mathbf{B}\mathbf{R}\mathbf{V}^{-3} - 2\mathbf{e}\mathbf{V}^{-3}T^{-3}(1+y\overline{V}^{2})e^{-y\overline{V}^{2}}]^{\frac{1}{2}} \\
 -\mathbf{R}T\overline{V}^{2} - 2\overline{V}^{3}(\mathbf{B}_{0}\mathbf{R}T - A_{0} - C_{0}\overline{T}^{2}) - 3\overline{V}^{4}(\mathbf{B}\mathbf{R}T - a) - 6a \propto \overline{V}^{-7} \\
 + e^{-\delta V^{-2}}(3\mathbf{e}V^{-4}\overline{T}^{2} - 3\mathbf{e}\delta V^{-6}T^{-2} + 2\mathbf{e}\delta^{-2}T^{-3}V^{-8} - \frac{1}{2} \\
 \begin{bmatrix}
 6 e^{T^{-3}}(\delta^{-1}e^{-\delta V^{-2}} + Ve^{-\delta V^{-2}}/2 + C_{0}\varepsilon^{-1}V^{-1}) - 6e^{\delta^{-1}}T^{-3} \\
 2
 \end{bmatrix} - \overline{R} \quad (20)$$

Dividing out V and changing signs in the first term and

$$\begin{array}{c} \text{rearranging the second term gives} \\ & \int \overline{T[R+B_{0}RV+2(_{0}V'T^{-3}+6RV^{2}-2eVT^{-3}(_{1}+8V^{-2})e^{-\delta V^{-2}}]^{2}} \\ & + \int RT+2V'(B_{0}RT-A_{0}-C_{0}T^{-2})+3V^{2}(_{6}RT-a)+6axV^{-5} \\ & + e^{-\delta V^{-2}}eV^{-2}T^{-2}(_{3}+38V^{-2}-28^{2}V^{-4}) \\ & + 6C_{0}T^{-3}V'+68'eT^{-3}(e^{-\delta V^{-2}}-1)+3eT^{-3}Ve^{-\delta V^{-2}}R \quad (R1) \end{array}$$

For ease of expression and calculation the following equations were used.

$$C_{p}-C_{p}^{*}=T\left[\frac{b^{2}}{b}\right]+Y-R$$
 (22)

$$\phi = R + B_0 R V' + 2C_0 V' T^{-3} + 6R V^2 
- 2 \tau V^{-2} T^{-3} (1 + 3 V^{-2}) e^{-3 V^{-2}} (R3)$$

$$\Theta = RT + 2V^{-1} (B_0 RT - A_0 - (_0 T^{-2}) + 3V^{-2} (B_0 RT - a)) + 6aaV^{5} + e^{-\delta V^{-2}} e^{V^{-2}} T^{-2} (3 + 3V^{2} - 2\delta^{2} V^{-4})$$
(24)



$$\Psi = 6C_0 T^3 V' + 6\pi \delta' T^3 (e^{-\delta V^2} - 1) + 3\pi T^3 V e^{-\delta V^2} (z_6)$$

$$\Psi = C_v - C_v^{*} \tag{27}$$

1

.

#### METHOD OF CALCULATION

Since both equations 2 and 21 are explicit in pressure, they were solved by assuming values for volume at the various temperatures and calculating the pressure, then calculating  $c_v - c_v^*$ , and  $c_p - c_p^*$  corresponding to the assumed temperature and the calculated pressure. These calculations were carried out as follows:

1) The values of volume varying from 1.35 ft 3/#-mole to 50 ft<sup>3</sup>/#-mole were assumed and pressures were calculated by equation 2 using the Benedict et. al. constants shown in Table 2. The lower limits of volumes were based on not exceeding 1/1.8x critical density). The critical density used was 0.442#mole/CF. This represents the author's recommended limit to the Benedict-Nebb-Rubin equation of state. In addition the lower limits of volumes assumed for calculating the isotherms were set by not obtaining pressures much above 10,000 psia or  $c_p - c_p^*$  values much greater than 0.24 Btu/#, F. The upper limits of assumed values for volume were set so that cp-cp \* Values of not more than about 0.020 Btu/#, <sup>o</sup>F for the lower temperatures or 0.010 for higher temperatures were obtained. 2) For the same values of pressure and volume used in step 1) above the values of  $c_p - c_v$ ,  $c_v - c_v^*$ , and  $c_p - c_p^*$ were calculated. Equations 22 through 27 were used

for these calculations. Since the calculations involved a small difference between large numbers, all calculations were made to six significant figures. Seven-place logarithms were used in the calculations (18). The isotherms selected for calculation were 150°F, 250°F, 400°F, 500°F, 600°F, 800°F, 1000°F and 1400°F. Sample calculations for the 500°F isotherm are shown in Table 1. The calculated data are shown in Table 3.

3) Since alternate values of constants for use in the Benedict-Webb-Rubin equation of state have been presented in the literature (16), it was necessary to repeat the calculations as indicated in 1) and 2) above. Barkelew et. al. stated that the alternate constants were calculated to reproduce P-V-T data including those made available since the original constants were determined. These alternate constants are applicable to ethane in the range of  $100-460^{\circ}F$  and up to  $1500 \text{ lbs/sq.in.abs. only (see Table 2). Therefore the following isotherms were calculated: <math>150^{\circ}F$ ,  $250^{\circ}F$ ,  $300^{\circ}F$  and  $400^{\circ}F$ . These calculated data are shown in Table 4.

4) The values of  $c_p - c_p^*$  were plotted versus pressure with parameters of temperatures. An enlarged section (low pressure) was plotted to increase accuracy. These plots are shown on figures 1 and 2. Both the values resulting from the Benedict et. al. constants and the Barkelew et. al. constants were plotted for comparison purposes. The curves through the Barkelew data points were used within their range of application in subsequent cross plots.

5) A crossplot of Figures 1 and 2 was made on Figure 3. Here  $c_p - c_p^{\#}$  is plotted versus temperatures from 150 to 1400°F with parameters of pressure from 100 to 10,000 psia.

6) For purposes of comparison, the generalized correlation of Edmister was used to calculate  $c_p - c_p^*$ . The table in Reference 11 was used for  $\frac{\Delta^C p}{k_2}$ , where k2 is a constant applicable for ethane. The original value suggested for k2 for ethane was 1.457 in Reference 11.

Later Edmister suggested that  $k_2$  should be 1.438 in Reference 12. This latter value was used in the present calculations. The resulting  $c_p-c_p$ <sup>\*</sup> data were plotted on Figure 4 with isobars from 5) above also plotted for comparison. The calculated data from the Edmister generalized correlation are shown in Table 5. The values of critical pressure and temperature used were: 708.3 psia, 549.77°R.

7) The values of  $c_p-c_p^*$  obtained from experimental data given by Sage et. al. in Reference 9 and 10 were plotted on Figure 5. Here again isobars from Figure 3 are also plotted for comparison.

8) Using the values of  $c_p^*$  from Reference 8 and the calculated data from steps 1), 2), and 3)  $c_p$  was obtained and plotted versus pressure with temperature as parameters (See Figure 6). A crossplot was again made to obtain  $c_p$  versus temperature with parameters of pressure; this plot is shown on Figure 7. Values of  $c_p$  similarly obtained from  $c_p-c_p^*$  values using the Edmister generalized correlation were plotted on Figure 8. The Sage et. al. experimental data was also included on Figure 8 for comparison purposes. 9) The values of  $c_y-c_y^*$  obtained in steps 2) and 3) were plotted as in step 4). A crossplot was again made to obtain a graph of  $c_y-c_y^*$  versus temperature with parameters of pressure. These plots are shown on Figures 9 and 10.

10) Using equation 3 and values of  $c_p^*$  from Reference 8 values of  $c_v^*$  were obtained. With these values of  $c_v^*$  and values of  $c_{v}-c_v^*$  from steps 2) and 3),  $c_v$ data were obtained and plotted on Figure 11 to show effect on total  $c_v$  of the deviation from ideal gas state.

11) From the calculated  $c_p$  data from step 8) and the calculated  $c_v$  data from step 10) values of  $c_p/c_v$  were determined. These are plotted on Figure 12. A cross

plot was made to show  $c_p/c_v$  versus temperature with parameters of pressures as shown in Figure 13. The values of  $c_p/c_v$  are shown in Tables 3 and 4. 12)Edmister has presented a generalized correlation for determining  $c_p/c_v$  (14). The values of  $c_p/c_v$  for ethane were determined from this correlation and were plotted on Figure 14. Two isobars from Figure 13 were also plotted for comparison purposes. The calculated values of  $c_p/c_v$  are shown on Table 5.

#### DISCUSSION OF RESULTS

#### General

It should be noted before proceeding that any comparisons to determine the accuracy of the heat capacity data presented herein will be sharply limited by the lack of available data. Thus the comparisons will be confined to the one set of available experimental data, that presented by Sage et. al. (9 and 10), and the Edmister generalized correlation (11,12,13,14). The following discussion and comparisons have been divided into four sections: discussion of isobaric heat capacity; constant volume heat capacity; ratio of heat capacities; and general conclusions.

# Isobaric Heat Capacity, cp-cp\* and cp

As indicated on Figures 1, 2, and 6 the values of  $c_p-c_p^*$  and  $c_p$  calculated from the Benedict-Webb-Rubin equation using the original constants (15) agree very well with those obtained from the use of the newer constants of Barkelew et. al. (16). Values of  $c_p-c_p^*$  and  $c_p$  were calculated for the 150, 250, and 400°F isotherms using both sets of constants. From this agreement in values it was concluded that accurate determinations could be made using the Barkelew et. al. constants within their range of application (150 to 450°F and 0 to 1500 psia) and the original Benedict et. al. constants in the remainder of the range

investigated.

Figures 3 and 7 indicate that large errors may be encountered in engineering calculations if the deviation of isobaric heat capacity from the ideal gas values were neglected. The large increase in the deviation from ideality at the lower temperatures would be expected since both  $c_p - c_p^*$  and  $c_p$  become infinite at the critical point (approx. 90°F and 709 psia.). The dashed lines on the higher pressure isobars on Figures 3 and 7 have been plotted to show that at higher pressures (theoretically, those above the critical pressure) the deviation from ideality is reduced as pressure is increased within certain temperature ranges. For ethane, the 4000, 5000, 8000 and 10,000 psia isobars show such a trend towards ideality at temperatures below 700°F. This same phenomenon may be seen on the common compressibility factor versus reduced pressure plots. For these latter plots it has been explained that the phenomenon results from the actual volume of the molecules becoming an increasing factor while the forces of attraction between molecules become less of a factor in determining the deviation from ideality.

On Figure 4 it can be seen that the values of  $c_p - c_p^{T}$ determined from the Edmister generalized correlation agree with those calculated from the Benedict-Webb-Rubin equation.

The differences between values does seem to increase with increasing pressures. However, the 2500 psia isobar shown is about the upper limit of values that may be obtained from the Edmister correlation in its present form. It should be pointed out that Edmister has himself indicated that the value of  $k_2$  used in the  $c_p - c_p^{*}$  calculation is subject to revision to increase the correlation's accuracy. Figure 8 also shows agreement between  $c_p$  values obtained from the Edmister correlation and from the Benedict-Webb-Rubin equation.

A comparison of the Sage et. al. (9,10) data with those of the present study are shown on Figures 5 and 8. It was felt that though isotherms in the range of 175 to  $225^{\circ}$ F would show good agreement, the true comparison would require the wide range of temperatures shown. These figures indicated that below about  $200^{\circ}$ F this investigator's calculated values are higher than the Sage et. al. values, while at temperatures above  $200^{\circ}$ F, they are lower. The slope of the isobars at  $250^{\circ}$ F indicate that the Sage et. al. would be higher over a large range of higher temperature. The values of  $o_p$ , and hence  $c_p - c_p^{*}$ , for pressures 600 psia and below were obtained from measurements of the Joule-Thomson coefficient of ethane. As indicated on Figures 5 and 8 the values obtained by this investigator do not deviate widely from the Sage et. al. data at 500 psia and below. Above

600 psia Sage et. al. obtained their c data by graphical differentiation of the temperature-heat content plot which in turn was based on saturated gas volume data. As indicated in the introduction to the present paper, Barkelew et.al. (16) have pointed out that values obtained from such volumetric data are questionable due to the difficulties in obtaining accurate saturated volumetric data. Barkelew et. al. indicated that the pressure correction to the heat content they obtained were higher than those obtained by Sage et. al. at temperatures above 200°F. Edmister (11) noted the same discrepancy between his data and the Sage et. al. data. Since these pressure corrections to the heat content are subtracted from the ideal gas heat content, a plot of heat content versus temperature with parameters of pressure would reveal that the Sage et. al. data have a higher slope (hence isobaric heat capacity) than either the Barkelew et. al. or Edmister data would show. Thus the values of heat capacity of ethane by Sage et. al. at pressures above 600 psia may be on the high side.

On the basis of the comparisons made above, the following recommendations are made:

1) Below 250°F the Sage et. al. data for  $c_p - c_p^*$  and  $c_p$  should be used, keeping in mind that the values at pressures above 600 psia may very well be on the high side. 2) Above 250°F the  $c_p - c_p^*$  and  $c_p$  of the present invest-

igator should be used with some consideration being given to the fact that the values may be on the low side.

# Constant Volume Heat Capacity $c_v - c_v$ and $c_v$

Figure 9 indicates a seemingly wider discrepancy in the calculated values obtained from the original Benedict et. al. constants and the Barkelew et. al. constants, than with the  $c_p-c_p^*$  values. This is due in part to the fact that relatively smaller deviations are exhibited by the constant volume heat capacity than the isobaric heat capacity (0.0 to 0.04 versus 0.0 to 0.30). Figure 11 indicates that the discrepancy has a very small effect on the total heat capacity,  $c_v$ . Therefore, it was concluded that the results obtained by the Barkelew et. al. constants can be used within their range of conditions and that the values from the Benedict et. al. constants can be used over the remainder of therapy.

Figures 10 and 11 indicate that pressure has relatively less effect on the constant volume heat capacity than on the isobaric heat capacity. For example, at temperatures above 400°F a maximum error of only 5% would result from using the ideal gas value.

The phenomenon of a return to ideality with increasing pressure was exhibited with the constant volume heat capacity. Since this trend was described in the previous section on isobaric heat capacity, it will not be further dealt with here except to note that the break in the isobars towards ideality occurs at higher temperatures for the same pressures.

It should be noted that Edmister (12) has developed a method for obtaining  $c_v$  from his generalized correlation. This involves obtaining from a graph the value of  $c_p-c_v$  as a function of reduced temperature and pressure only. Thus it would be possible to compare  $c_v$  values from Edmister's data with those calculated herein.

It is recommended that where a correction for theeffect of pressure on the constant volume heat capacity of ethane is necessary in engineering calculations, the data on Figure 10 be used.

# Ratio of Heat Capacities cp/cy

The values of  $o_p/c_v$  calculated from the Benedict et.al. and the Barkelew et.al. constants are practically equal as shown on Figure 12.

Figure 13 shows that large deviations of the  $o_p/o_v$  ratio from ideality may be encountered and must be recognized in engineering calculations.

It has been pointed out by Edmister (14) that the use of more accurate  $c_p/c_v$  ratios greatly improves the accuracy of the horsepower obtained from the equation for single

stage adiabatic compression even though it was derived for ideal gases.

$$H.P. = \frac{144P.V.}{33,000} \left(\frac{c_{p}/c_{V}}{c_{p}/c_{V}-1}\right) \left[\frac{P_{2}}{P_{1}}\right] \frac{c_{p}/c_{V}-1}{c_{p}/c_{V}} - 1$$

The deviation from ideality of the  $c_p/c_v$  ratio has a larger effect on the answers obtained from the equation than the deviation of pressure, volume, and temperature relationship from ideality. Here again as the critical point is approached, the deviation from ideality of the ratio of  $c_p/c_v$  approaches infinity. On Figures 12 and 13 the trend towards ideality with increase in pressure is again indicated.

The values of  $c_p/c_v$  obtained from the Edmister (12 and 14) generalized correlation have been plotted on Figure 14. Two isobars from the values calculated from the Benedict-Webb-Rubin equation are also shown for comparison purposes. The data from the two sources are in agreement at temperatures above 250°F. Below this temperature the Edmister values are lower. In making this comparison it should be remembered that the values of  $c_p/c_v$  from the generalized correlation are read from a graph and some of the discrepancy may very well result from this. Edmister compared values from his correlation with  $c_p/c_v$  values at atmospheric pressures and found a deviation of only 4%. Based on the comparison on Figure 14 it is recommended that above  $250^{\circ}$ F and below 750 psia either the Edmister or the present investigator's  $c_p/c_v$  values can be used. Outside this range of temperature and pressure the values obtained from the Benedict-Webb-Rubin equation (Figure 13) should be used.

#### Conclusions

For values of isobaric heat capacity,  $c_p$ , and its deviation from ideality,  $c_p-c_p^*$ , the values of Sage et.al. (9,10) are recommended for temperatures below 250°F. It should be remembered, however, that the values at pressures above 600 psia may be on the high side. At temperatures above 250°F the values obtained by this investigator are recommended.

For values of constant volume heat capacity,  $c_v$ , and its deviation from ideality,  $c_v - c_v$ , the data of this investigator are recommended.

For values of the ratio of heat capacities,  $c_p/c_v$ , at temperatures above 250°F and pressures below 750 psia either the Edmister generalized correlation or this investigator's data may be used. Outside this range of temperature and pressure, the values obtained by this investigator should be used.
Since the accuracy of any thermodynamic properties derived from the Benedict-Webb-Rubin equation is directly dependent on the accuracy of the original constants, more accurate constants might require a revision of the values of heat capacities presented in this paper. Selleck, Opfell, and Sage (19) by utilizing computing machines and statistical methods were able to determine the most accurate values of constants for the Benedict-Webb-Rubin equation for propane. If such a study were made for ethane, the recalculation of the heat capacities would yield more accurate results than presented herein. Of course, comparison with experimental data as it becomes available will also aid in determining and improving the heat capacity values of ethane.

	1						1. 																
					1													Tid	FEF	-E	7	of E	BESS
					$\mathcal{P}$													41	PACI	ty	<u>₽</u> F	4TH	aNE
																		4	7A5	57	17 E	47	AR
	0.300																	i ti di to ti di li c					
			8							<u>;;       </u> 1:  11											• • • • • • • • • • • • • • • • • • •		
			$\varphi$																				- FE
																							- 4/
						/														4114			
	0.250					<b>)</b>																	U A
				δ.																			
4			1																				
S'	0.200				V																	비타고	
Š								A MARINA	3														
22				/				1							1-0.								
2		3	8	<u> </u>																			
P	0.150	0						ing a second sec														- 2	0000
				1		X					C											50	20%
<b>*</b> 0			S.	/					0-1-								l orti . Finiti	111111111 111111					
U.			VI 5													······································			0			60	
, Q			1 04	$ -0\rangle$	<u> </u>											1 <u>1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 </u>						1111111111111 111111111111111111111111	
	0.100																	1. 1.					
		\$ /			ne	$\uparrow$				1. 1.17												8	<u>90°</u> F
		1 1 1	9. 1		50																		
		1.7	1 /		0	SF-												t n					1000
	-	1 81	1/1		1				in the second								-0-					n r.c.:	
	14051	3/x	13				100																Ana
		12/5	X	9		hor																1	144
		0/2/2	0	0		1004	TT I	port						0									
			100				1-74																
	0		-0		funteli									同時時									
		¢	1000		20	>p0		3000	2		400	2		1000		6	000		70	00		8	000
												RES	SL'R	E, F	=51.4								
							<u> .  .</u>								+			비밀니	ritut i		111 25.		

359-11L 10 X 10 TO THE 1, INCH FEBLAESSER CO.





it tri 111 THE 리는 바람 ETE HE. E E 1 Hi HEAT CAPACITY CE. 4 E E ::4: 144 IDEAL 515 ΞĒ 4H3 124-4 STATE. 0.45 -115 1 11 946 1 SHE · IIII) 非明治 XIIII III 1167 油油油 끏뀸 in filt Ett 田 1 **J**EH 拙机 Hittifal 田田 H1. 出出于 HALLE 甘田田 曲 田田 .1919121 6.150 N 21.11 \--\ 4 11: Ξħ H=10 曲出 нн 串串 - 11 uiltii t anac-1 增值 出拍 ti E 17 A 出出出出 把用住出 HE 祖母 121 田母 9 期時 海田田田 λJ: 臣 114 XIII 中田口 川田田田 241 1166 CALON! - - 1 VIEILER 미브 XHEREN NEE NHEIL MEE N N III 963 -\*, 11: 1000 ff 112 1 THE 3 No. X No. 백문 N. A Carton 钳胡 X 10 備制) -b.0.72 1 11 Harr S. 511 J ::### 大把出 rstert. 444 品紙 A CAR the star Telisipe -÷++ | | 24, 12.11 -------88 e e e 1020 11/102 HELE. 6 700 900 - 500 Veinter Freitur 5 95 400 500 262 302 100 1001 

KEUFFL & ESSER CO., N. Y. NO. JUN 14L Millimeters, 6 ann. Innes seconded, con, linge heavy. Mailimeters, 6 ann. 428 M V. 8. A.



							THE FE	
							HEAT C	TAPACITY OF FI
							10511	المعرفي والمعرفي والمعرف
620								2755
							- ( <u>Usra</u>	THE GENERA
								E CARASTZ
								<u> </u>
0100								
			12					
200				11 (12) (13) (13) (13) (13) (13) (13) (13) (13				
3		11						
<b>N</b>	1811	14.19	10 1					
<i>a.106</i>	V Č.		14 N/					
		Ca to I						
S I		13 1/1						
.9		XXX						
V								
0,050	N. S.							
						1 Rate	3.4	
					509 - + + -			
	60 200	300 . 400.	500	620	700 500	2	0 1000	1100 12
			电合于 医闭口的 招援	fataleta (n. d. a. d. a. d. fatilita)	TEMPEPATURE	"Ætttelhildet	tillinella (hitala)	

•

, Anno accortos Kaŭs in Ursia.





10 X 10 TO THE 42 INCH KOUFFEL & ESSER CO. 與於

												1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	FILLEF	6	
								,	115 60		= Proce		no -	10000	
								Ź	CAT (		ANA			10000	
								+						<u> 277 1005</u>	
											MIPERAI	URES	i serie s Internet serie s Internet serie s	1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 1997 - 19	
1.100-															
						() ()			1400						
1.000	· · · · · · · · · · · · · · · · · · ·	0 1400°F					uner Litte Autor Hart Anere Ator	and Annier, 4				riges etil terrer	tilig tiltt latit. Frankrigt biltt		
													· · · · · · · · · · · · · · · · · · ·		
									10	20°F					
0.000			an of												
										20°F					
0 <sup>×</sup>					0										
			800 F 0-							6000	<b>c</b>				
3	0-							9							<b>o</b>
X	-00	019							-O	500	F				
Ø.	01	27 37	0							400	Ø				
	So.	P 1 C										+++0-			
6	00%-0-0	100													
arcex															
<b>N</b>	20-1-12									1			in the second se		
C + + + T													01011		
	10										R-			KE IIVUI	(15)
0.0.70											DENEDIC		12 Laws		
	0'81									<u> </u>	DA GLELL	NC EL	4L. Cans		
	33						in a second s				LATA AD	67 <u>5</u> W7	TH OFM	DICT AM	2 RAKKELE
250°F -2	э <u>И</u>										CON	STAATS	COINC		
0.500										X	IDEAL O	545 12	UES (	5	
	5 Y														
<u> </u>										ht Litt first. Helse terest				nigi mehrulu Tutu hay harr	
pupp-															
6	100	0 - 11 20%	0 3000	42	00 50	00	6000		000	300	0	9000		0000	
	「「「「「「「「」」」」」 しょうしょう 御礼	이 사실 이 가지 않는 것 같이 많이 많이 많이 같이 없는 것	그 아이는 것을 가지는 것을 받았는 것을 수 있다.	그는 편은 편을도 안 한 것.				p. 112 (51 − 1°12 )}.	- 18 - 14 H H H	5.9 <b>1</b> 5.19 <b>1</b> 57 <b>1</b> 5	1.1111111111111				그 나 나는 대학 대학생



KEUFFEL & ISSER CO., N. Y. NO. 337-14L Willimmers, 3 m.m. lines secreted, cm. lines hsay, 440E N V. J. A.

	11																																							Ĩ
	7,50	-72-T																											       			/	THE		E	FFE	-27	- 6	F	7
																	i i i																							
																													· · · · · · · · · · · · · · · · · · ·			1	1E	AZ	-	CA.	P.	101	Tr	
	1	2																														****     *								
																	1													•				: : : : : : : : :					P	5
																							1.1																	
											<u>.</u>																													
	1.17	9							<u>+</u>		1							;					1				; ;													ŀ
		_																								· · · · · · · · · · · · · · · · · · ·														
													1																		1								<u> </u>	<u> </u>
			· · · · · · · · · · · · · · · · · · ·																														•	k          -        -						:
	1.00	0																1.1-		+ + + + + + + + + + + + + + + + + + + +																		· · · · · · · · · · · · · · · · · · ·		
																							· · · · · · · · · · · · · · · · · · ·																	
			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1																																					-
12		÷					· · · · · · · · · · · · · · · · · · ·																														· · · · · · · · · · · · · · · · · · ·			-
	12.2	20-																																	<u>+_</u>					;
																											,		· · · · ·											
2													N			.,	-																							:
			· · · · · · · · · · · · · · · · · · ·				· · · · · · · · · · · ·								- 								• 1 1					<u> </u>	-											-
	7.5	10	-												X	2	4													+										
<u> </u>				1		-f		$+\lambda$		-			<u>е   А</u> 1. ц.	¥	.X. 												·								::: 				-	•
				-			$\nabla^{1-\frac{1}{2}}$		7		~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	<u>.</u>							<u>  </u>				111									<u> </u>								
97				$ \chi $								15	20 -		<b>^</b> ∏					 	+		:::: 									<u></u>			<u></u>					- <u>-</u> -
	9.70	\$		+	•		-			N. K.				3		$\sum$	×		-			14.1 14.1																		
					$\overline{}$			X		$\frac{1}{2}$									1.7.		1					1										12	90 i	P: 14	-	-
						154			Re-				•••	-	-				+				÷		-	•~					+	•	-+	!   +	«1A				-	
					<u>, 111</u> + <u>1</u> 1	NO.	4.	100 00 100 100 100 100 100 100		- 1		-					 											•			_ +	-	r <u>ey</u>			a		- #1 - <u>***</u>	L#	
	0.5		· · · · · · · · · · · · · · · · · · ·			<u> </u>	Yes								<u>.</u>					+				 	+	-														
					4.								+++++++++++++++++++++++++++++++++++++++		<del>.</del>													<b></b>												-
					$\geq$	× 🖶			inen o i a de												=						<u> </u>													
				30	0 J	57.4					a. *	-												 																
	2.5	₽ <b>9</b>  :			- 6.44					مستفقیت ا	3	-																												
	-		20	12-	(Å																												• • • • •							
												-		-					1																					
								<b>.</b>					· · · · · · · · · · · · · · · · · · ·			-																	-					-		
	6.4	<i>;</i> ⊕												· · · · ·				-		 	   : ; ;							•							+					: 
		C	2			-1.90				152				20	12		7		.Z:	10				50 					50	<u>u</u> .				42	10.				50	
	L	aninan kai			<u> </u>	j									1	<u> </u>	LE	Arit	151	1.4	ĒΨ	معتقد م	dan Ì	17-1		لذينا	]	L					<u>.</u>	<u></u>	. i			:		

EVER TO X TO TO THE T<sub>2</sub> INCH 359-11L



					. 1111			1 ( ) · · · ·	1111	1.1.1		1111										1.1	111. <u>1</u> 12			: (:::	t <b>t</b> a sa <sub>a</sub>	$\mu = 11$	
																					+								
		de saide.																											
Same         Year me         The T Call detter           Same         Case STATE AT 128 and         Same										15													THE	FAL	A.	₩Ū	2-	Pe	5551
																						1	Inder				7	1011	
0.201       0.201       0.201       0.201       0.201         0.201       0.201       0.201       0.201       0.201       0.201         0.201       0.201       0.201       0.201       0.201       0.201       0.201         0.201       0.201       0.201       0.201       0.201       0.201       0.202         0.201       0.201       0.201       0.201       0.201       0.202       0.201       0.202         0.201       0.201       0.201       0.201       0.202       0.201       0.202       0.201       0.202																							<u>A A</u>	<u>ae (</u> [	15-1	4-	-6-1	<u>Prici</u>	47
Com																							UA.	$s \downarrow \psi$	TAT	4_	AT	VAR	11205
											1.1															144			
	0.202																												
											Till I															6 TU			
																				-   <u></u> -									
																													C
			4																										
2.40     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1     1																													
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	6.050																							1.1					
															-														
																+						<u></u>							
$\begin{array}{c c c c c c c c c c c c c c c c c c c $			X/@																	-		<u> </u>							
$\begin{array}{c c} & acho \\ \hline \\ $			3		말날								i li																
b     actor		\    \													, .							$r^{1}$							
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	0.010		+			40																							
				-/-	7 <u> </u> 																								
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$				1																									
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	2			1 12										· · · · · · · · · · · · · · · · · · ·															
$\begin{array}{c} 1\\ 1\\ 1\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 1\\ 2\\ 2\\ 2\\ 2\\ 2\\ 2\\ 2\\ 2\\ 2\\ 2\\ 2\\ 2\\ 2\\$		k i k	• · · · · · · · · · · · · · · · · · · ·										訷																
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$					1		9																	i e e i e				<u>Gitte</u>	
	E 030	+  -  +			/											-				-									
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$			, ĭ/+	• /	· · · · · · · · · · · · · · · · · · ·										<u> </u>	<u></u>				-							-	<u> </u>	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$			Ň	10					4::11	1 																<u>, i [], i</u>		· · · · ·	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$					-																						HHE		
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	X	1 1		7	111.			 ·			i.i															19			
$\frac{3}{2} \frac{9676}{10} + \frac{1}{2} \frac{1}{2$			1.7						D		-0																		
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$		L				Le Ti						<u>.</u>		<u>  }.</u> 		<u> </u>				4									
$\begin{array}{cccccccccccccccccccccccccccccccccccc$	G				8	0												T											
$\begin{array}{cccccccccccccccccccccccccccccccccccc$				1.1	~																-								
$ \begin{array}{cccccccccccccccccccccccccccccccccccc$		12 10	7 5	V/	<b>O</b>							: :::							1-0						~@:-				
$\begin{array}{cccccccccccccccccccccccccccccccccccc$		1 5 10		Ϋ́			0	,				11								· · · · · · · · · · · · · · · · · · ·									
$\begin{array}{cccccccccccccccccccccccccccccccccccc$		<u> </u>	~ / c	<b>,</b>	de la																								
$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	n Atta			1 40	X			6	<u> </u>														0				<b>.</b> O		til til til t
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$		15/	8	3	66	1000																1.2 1.2 1.2 1.2 1.2 1.2			ļ   I.				
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$		1881	C I	,	-	L.P			!							• • • • • • • • • • • • • • • • • • • •				-									
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$			E.	0		and	Ec		+		10																		
$\frac{3}{2000} - \frac{1400^{\circ}F}{3000} - \frac{1400^{\circ}F}{3000} - \frac{14000}{5000} - \frac{14000}{5000} - \frac{16000}{5000} - \frac{1600}{5000} - \frac{1600}{500} - \frac{1600}{5000} - \frac{1600}{500} - $		PAR			-0		1000	7			<b>;</b>			-0		: 1 <del>.</del>													
2 1000 2000 3000 4000 5000 6000 7000 8000 PRESSURE, PS/A		18	0					1	400	bor	+											rguya ampr							
2 1000 2000 3000 4000 5000 6000 7000 8000 PEESSURE RS1.4		1			0			<u></u>					<b>_</b>													1 : 13			
Parssure, Asia				1		21	202			30	00			4	200			5000			60	00			001			P	2000
PEESSURE RS11		·		uruz -						and the second s	N.C.																		
A A A A A A A A A A A A A A A A A A A					· · · · · · · · · · · · · · · · · · ·						+						$\overline{}$		+										
		and the first transfer						<u>,   </u>	·   · · · ·		i						1 ME	RESSI	49£] .	P.i.P.	44								
		<u> </u>	1																							<u>a]1]</u>			

8.8% 10.8.10.10.7HE 1, INCH 359-11L

.



-41 :É.È÷ 931 THE EFFECT OF TEMPERATURE ON THE VOLUME HEAT CAPACITY OF ETHANE RELATIVE :::†: 対対す VARIOUS PRESSURES IDEAL CLAS STATE AT Ott 0.050 5 ROOMD 12 10 里時日 TH: 12 A Viitel 0,030-No. 招打 XTE 0 ::H-1 ALL OF J Ĵ The second 64 - an 3000 251A 5000 ASUA 0.00 u pri 11.11.21.21.22.22.2 -----List i tri -0-3.0 500 200 450 100 601 300 1100 200 **医中部**的 11 TEAMPERATURE, PF 四拍 1

KEVFFEL K ESSER CO., N. Y. N.V. 354-140. Hildmeters, 3 nus. the remarked, eta. Hine heary vederix u. a.a.



																											7	HE	E	FFEC	+	d E
																											V	720	ME	- He	EA I	+
																														VAR	210	17.
																									LET :							
																																Ï.
																															1	1A
	10.11																			i i li									1.1			W
	<b>, </b> <i>u u u</i>																															0
																																8
			140	DOF				C								,     						-		u deter ent	4		-	14	00	°F		
	12:430																															
												1																				
																			:												-	
	la com	.10	000-		191		, ,			-0				+++-(	<u>.</u>				<u> </u>					0					100	OF		
		<b>[</b> ],																														
										,																				itiitii († 147) Herrikaanse		
o d				8	1295	5		دور ا				0								-9-								<u></u>		500	Ē	
5	9709										1 . 1				_	<u> </u>																
			-						-																				打			
						100	2F												0							-0		r			der	
F		k-0-	0 ©		- <b>P</b>				Υ							_																
June 1	- Contraction					5	20 F				-   : 					÷.						, ,								50	001	
		1-0-1	<b>D</b> 10-	e		1		<b>T</b>														,   										
			- the second				400	p of F	0			-0 -					<b>_</b>					<b>0</b>						9 111		410	100	F
، و معلق الرواني . - المراجع الله : المراجع الله : - المراجع الله : المراجع الله : - المراجع المراجع الله : المراجع الله :		1.00																														
Ì	1400		30-	PF-	·		13	······································																								
			8-1-0	18-	ōT	ō	4	SVI																								
		of	DT "	100					-																							13
			كنغر																													
	p.4.r.	por.	[6]	ATA I	epin -	24	1. c.li	ATEC	FR	ba:	B	Ente	ucr.	ET.	Å.	ſ1	ヺ															
		K Ý		BAR	and the second	ET.	AL.	(16)	C	ON	STA	wit	5																			
									<u> .</u>		÷		-						ļ												: :::ij	
	12.2.12										• . • .									 												1
		-		1240			201	2			Э,Сек	12			- 4	(OSL				500	<u>a.</u>		- 60	bo			72	200			4	12
																X	ر سو اسراح	ا رسو کو			-										-	
																		203	.€ •••€ 2 ∔	<b>τ</b> , Ρ.												

12 Mar 10 X 10 TO THE 12 INCH 359-11L



														-				1								• • • [ ]		1 - 5		1
																+					7	-	. Z	Er		- 1		2,5,5	CC//E	) Ser
																					G		10117	TE C	4	- 4 - F	THE	NA	AT	TV.
												tita ni 12 ta ni										* *		1						1
										i.pt: fl. prt  ,:																	1	Arri	VATE	5 00
											-1   -1																		D.	a i san i s i si
							1																						$A^{2}$	ALL
						Ϋ́																							1 Lon	nn <u></u>
	1,100		8													T i i												•	× 722	
													121														, i			
												11111) 11.111																		
			<u>p</u>		4																11.	83				1				
	7,600-		N.		\$																									
					N .	O						E E																		
					В	1																								
					1	1						H.	1.1																	
	1.200			1		<u>k</u>															1191   1 111, 11									
				[	h i i i i i i i i i i i i i i i i i i i	₩																								
•			Ø	r: /	<u>}</u>														In E											
				Ø	1					0-		; + : ; ; = :		-0-					0-L		: 									
	1.400							J.C.																	-0-1					
				/			TE.																						700%	-
					7	42							1.1 1.1 1.1 1.1 1.1					-0				, , , , , , , , , , , , , , , , , , ,								
		1	1	- <u>s</u>		Ø	•						-0+										:   ·   ·		Ψ			••• 	00F	+
3.7	T. 20:5-				111/			D.F.		-0-																		6	20%	
			/		Q		F	500								,	1						<b>)</b>							
		10	6/				0		10°F			-0																		
		La J	To a	Ø	,				4			i ui l																	EDDY	e
	1.200	广河	Y /	میں۔ محر								المرديا ل					) 			<b>⊷</b>										
		* 5/8								-	900	1																	1000	17F
		KØ.	0 0					1						/	000° T						- 0++									
		-6-		07-		_0		140																		<u> </u>	нос	, de		0-
	1,1212		-0-					14	901			0																		
		K																												
	1000-			1000			6311		30	00			407	<del>an ta</del> 20		50	100			- 601	0			70	100			80	00	
																						-								
															Bri	55	17.0		p.	A										
																		i d™ ∏tr					ļ							







10 KEUFFEL & ESSER 20 X 20 to the inch. WADE IN U.S.A.

0000

## TABLE 1

		Sample Calculatio	<u>)ns</u>	
P = R1	$E/V \neq (B_0 RT -$	$A_0 - C_0/T^2$ ) $1/V^2 \neq$	$\frac{1}{\sqrt{y^2}}$	$1/\sqrt{3} + e^{4}/\sqrt{6} + e^{3}$
		C(14 /V )	e ' /	V-1-
$T = {}^{\circ}F$	° <del>/</del> 459.63		A₀=	15670.7
<b>T =</b> 50	0 \$ 459.63 =	959.63 <sup>0</sup> R	₿ <sub>o</sub> =	1.00554
R = 10	•7335		C₀=	2.19427 x 10 <sup>9</sup>
V = cu	bic feet/#-mo	) <b>le</b>	a I	20850.2
P = ps	ia		b =	2.85393
e = 2.	7182 <b>8</b>		c =	6.41314 x 10 <sup>9</sup>
l Btu	= 778.16 ft-#	<b>i</b>	= ۲	3.02790
Molecu	lar Weight =	30.047	≪ ≢	1.00044
V	RT/V	(BoRT-Ao-Co/T2)1	/72	$(bRT-a)1/V^3$
1.35	7629.769	-4222.890		3473.383
1,50	6866.792	-3420.541		2532.096
1.70	6058 <b>.9</b> 35	-2663.052		1739.432
2,00	5150.094	-1924.055		1068.228
2.50	4120.075	-1231.395		546.9330
3.00	3433.396	- 855.1355		316.5121
4.50	2288.931	- 380.0602		93.7814
6.00	1716.698	- 213.7838		32.1332
9.00	1144.466	- 95.0150		11.7227
15.00	686.6792	- 34.2054		2.47446
25.00	412.0076	- 12,3140		0.546933
50,00	206.0038	- 3.07849		0.068367

## TABLE 1 (Continued)

Sample Calculations

<u>v</u>	aa/146	$c(1/VV^2)e^{-V/V^2}/V^3T^2$	P
1.35	3445.868	1430.329	11756.46
1.50	1831.275	1260.155	9069.78
1.70	864.1876	1018.050	7017.55
2.00	325.9278	717.4450	5337.31
2.50	85.44004	407.5800	3928.63
3.00	28.61370	246.2251	3169.61
4.50	2.5120393	75.64953	2080.81
6.00	0.4470887	32.13320	1575.06
9.00	0.0392506	9.546396	1070.76
15.00	0.0018313	2.016339	656.97
25.00	0.0000854	0.445695	400.69
50.00	0.0000013	0.055715	203.05

From Equation

$$C_{p}-C_{p}^{*} = T \frac{\phi^{2}}{\phi} \neq -R \dots in \#, ft^{3}/in^{2}, \#mole, ^{\circ}R$$

$$\emptyset = R \neq B_{0}R/V \neq 2C_{0}/VT^{3} \neq bR/V^{2} - 2c(1 \neq \mathcal{F} / V^{2})e^{-\mathcal{F} / V^{2}}$$

$$/V^{2}T^{3}$$

$$\Rightarrow = RT \neq 2(B_{0}RT - A_{0} - C_{0}/T^{2})/V \neq 3(bRT - a)/V^{2} \neq 6s^{4}/V^{5}$$

$$\neq e^{\mathcal{F} / V^{2}}c(3 \neq \mathcal{F} / V^{2} - 2\mathcal{F}^{2}/V^{4})/V^{2}T^{2}$$

$$\Psi = 6C_{0}/T^{3}V \neq 6c(e^{\mathcal{F} / V^{2}} - 1)T^{3} \neq 3ce^{\mathcal{F} / V^{2}}/V^{2}T^{3}$$

$$\Psi = C_{v}-C_{v}^{*} \dots in \#ft^{3}/in^{2}, \#mole, ^{\circ}R$$

$$T \frac{\phi^{2}}{\phi} = C_{p}-C_{v} \dots in \#, ft^{3}/in^{2}, \#mole, ^{\circ}R$$

-

TABLE	1 (Continued)		Sample Calculations
V	B <sub>Q</sub> R/V	200/VT3	bR/V2
1.35	7.994789	3.678535	16.80805
1.50	7.195310	3.310682	13.61452
1.70	6.348804	2.921190	10.59954
2.00	5.396483	2.483011	7.658167
2.50	4.317186	1.986409	4.901227
3.00	3.597655	1.655341	3.403630
4.50	2.398437	1.103561	1.512724
6.00	1.798828	0.8276704	0.8509074
9.00	1.199219	0.5517803	0.3781810
15.00	0.719531	0.3310682	0.1361452
25.00	0.431719	0.1986409	0.0490123
50.00	0.215859	0.0993205	0.0122537
V	2c(1 / 3./v	$^{2})e^{-\gamma \nabla^{2}/\gamma^{2}T^{3}}$	Ø
1.35		4.024352	35.19052
1.50		3.939502	30.91451
1.70		3.606984	26 <b>.99605</b>
2.00		2.990507	23.28065
2.50		2.123631	19.81469
3.00		1.539501	17.85063
4.50		0.7094878	15.03873
6.00		0.4018200	13.76409
9.00		0.1790639	12.68362
15.00		0.0643548	11.85589
25.00		0.0232225	11.38965
50.00		0.0058059	11.05513

TABLE 1 (Continued) Sample Calculations

<u> </u>	RT	2(B_RT-AC_/T2)/V	$3(bRT-a)/V^2$
1.35	10300.19	-11401.81	14067.20
1.50	10300.19	-10261.62	11394.44
1.70	10300.19	- 9054.375	8871.102
*≿.00	10300.19	- 7696.219	6409.371
2.50	10300.19	- 6156.975	4101.997
3.00	10300.19	- 5130.812	2848.609
4.50	10300.19	- 3420.542	1266.049
6.00	10300.19	- 256 <b>5.406</b>	712.1521
9.00	10300.19	- 1710.271	316.5122
15.00	10300.19	- 1026.162	113.9444
25.00	10300.19	- 615.6975	41.01997
50.00	10300.19	- 307.8487	10.25500
۷	6ad/75	e-1/V2c(3+38/V2-2)2/V	$(1)/v^2r^2 \rightarrow$
1.35	27911.53	1787.509	42664.63
1.50	16481.48	2752.030	30666.51
1.70	8814.714	3336.535	22268.17
2.00	3911.134	3368.735	16293.21
2.50	1281.601	2734.642	12261.45
3.00	515.046	2090.919	10623.95
4.50	67.82506	1008.026	9221.55
6.00	16.09520	575.8817	9038.91
9.00	2.11954	257.5213	9166.07
15.00	0.164814	92.83487	9480.97
25.00	0.164814 0.012816	92 <b>.83487</b> 33 <b>.</b> 42662	9480 <b>.</b> 97 9758.95

TABLE 1	(Continued)	Sam	ole Calculations
V	6c <sub>0</sub> ∕т <sup>3</sup> ¥	$6c(e^{-Y/V^2}-1)T^3$	$3ce^{-Y/V^2}/V^2T^3$
1.35	11.03561	-11.64990	ו×68179
1.50	9.932045	-10.63643	2.519150
1.70	8.763572	- 9.336604	2.642200
2.00	7.449035	- 7.634761	2.553117
2.50	5.959228	- 5.521654	2.145857
3.00	4.966023	- 4.108264	1.727934
4.50	3.310682	- 1.997195	0.9258004
6.00	2.483011	- 1.160037	0.5559685
9.00	1.655341	- 0.527638	0.2589173
15.00	0.9932045	- 0.192223	0.0954671
25.00	0.5959228	- 0.069500	0.0346654
50.00	0.2979614	- 0.017406	0.0087084

TABLE .	L (Continued	)	<u></u>	Sample	Calculations
		<u>,</u>	°p-°p*	с <sub>р</sub> -с <sub>р</sub> *	с <del>у-</del> су <b>*</b>
V	<u> </u>	T D <sup>2</sup>	#ft <sup>3</sup> /in <sup>2</sup> ,#mole, <sup>o</sup> R	Btu/#, <sup>O</sup> F	Btu/#, <sup>0</sup> F
1.35	1.653890	27.85398	18.77437	0.115627	0.010186
1.50	1.814762	29.90642	20.98768	0.129258	0.011177
1.70	2.069167	31.40652	22.74219	0.140063	0.012740
2.00	2.367390	31.99540	23.62929	0.145527	0.014580
2.50	2.583430	30.72815	22.57808	0.139053	0.015911
3.00	2.585693	28.78223	20.63442	0.127082	0.015925
4.50	2.239288	23.53545	15.04124	0.092635	0.013790
6.00	1.878943	20.11318	11.25862	0.069339	0.011572
9.00	1.386621	16.84251	7.495627	0.046164	0.008540
15.00	0.8964482	14.22720	4.390148	0.027038	0.005521
25.00	0.5610880	12.75620	2+583790	0.015913	0.003456
50.00	0.2892639	11.71536	1.271128	0.007829	0.001782

$$c_p^* - c_v^* = 0.0661 \dots Btu/#, ^{\circ}R$$
  
 $c_p^* @ 500^{\circ}F = 0.6510$   
 $c_v^* = 0.6510 - 0.0661 = 0.5849$ 

<b>V</b>	°v	cp	c /c
1.35	0.5951	0.7666	1.2882
1.50	0.5961	0.7803	1.3090
1.70	0 <b>.5976</b>	0.7911	1.3238
2.00	0.5995	0.7965	1.3286
2.50	0.6008	0.7910	1.3166
3.00	0.6008	0.7781	1.2951
4.50	0.5987	0.7436	1.2420
6.00	0.5965	0.7211	1.2089
9.00	0.5934	0.6972	1.1749
15.00	0.5904	0.6780	1.1484
25.00	0.5884	0.6669	1.1334
50.00	0.5867	0.6588	1.1229

V	$c_p - c_p (from T \frac{\phi^2}{\phi})$	
1.35	0.171546	
1.50	0.184186	
1.70	0.193425	
2.00	0.197052	
2.50	0.189247	
3.00	0.177263	
4.50	0.144949	
6.00	0.124684	
9.00	0.103729	
15.00	0.087627	
25.00	0.078562	
50.00	0.072152	

Constants	Benedict et.al. Reference	Barkelew et.al. <u>Reference</u>
Ao	15,670.7	14,646.3
Bo	1.00554	yele-approxime
B <sub>o</sub> R	anti-sta dati-	10.5601
C <sub>o</sub>	2.19427 x 10 <sup>9</sup>	2.46787 x 10 <sup>9</sup>
8	20850.2	18,532.1
b	2.85393	
bR	ander van - anjen	27.3328
c	6.41314 x $10^9$	6.40322 x 10 <sup>9</sup>
$\propto$	1.00044	1.07021
Ş.	3.02790	3.26000
T in <sup>o</sup> R	°F ≠ 459.63	°F + 459.69
R	10.7335	10.7315
Molecular Weight	30.047	30.068

m	ART.R.	2
<u></u>	ADUE	<u></u>

Constants for Use in Benedict-Webb-Rubin Equation of State

P	Units #/sq.	in.	absolute
T	°R		
V	cubic	feet/	#-mole

TABLE 3						Calculateo	Data
		Using Ber	nedict et.al	. Constants	(15)		
v	P	cp-cv	C <b>∀-C</b> √_	cp-cp^	cp	Cv	cp/cv
ft <sup>3</sup> /#-mole	psia	Btu/#.°F	Btu/#, °F	Btu/#, °F	Btu/#, <sup>O</sup> F	Btu/#, °F	1 
$T = 150^{\circ}F$							
6.00	744.042	0.302756	0.045135	0.281780	0.7399	0.4371	1.6927
9.00	556.522	0.188783	0.033309	0.155987	0.6141	0.4253	1.4439
15.00	373.954	0.126192	0.021534	0.081621	0.5397	0.4135	1.3052
25.00	238.712	0.098139	0.013478	0.045512	0.5036	0.4055	1.2419
50.00	124.992	0.080791	0.006948	0.021639	0.4797	0.3989	1.2026
	0	0.0661	0	0	0.4581	0.3920	1,1686
$\underline{\mathbf{T}} = 250^{\mathrm{O}}\mathrm{F}$							
3.00	1676.34	0.354380	0.039381	0.327656	0.8429	0.4886	1.7251
4.50	1232.40	0.256171	0.034105	0.224171	0.7394	0.4833	1.5299
6.00	989.200	0.196430	0.028617	0.158942	0.6741	0.4778	1.4108
9.00	712.322	0.142234	0.021119	0.097248	0.6124	0.4703	1.3021
15.00	456.760	0.106623	0.013650	0.054171	0.5694	0.4629	1.2301
25.00	285.754	0.088599	0.008525	0.031019	0.5462	0.4577	1.1934
50.00	147.498	0.076702	0.004405	0.015002	0.5302	0.4536	1.1689
	0	0.0661	0	0	0.5152	0.4492	1.1469

(

7

TABLE 3 (Con	ntinued)					Calculate	d Data
$T = 300^{\circ}F$							
3.00	1976.25	0.285241	0.032105	0.251241	0.7946	0.5094	1.5599
4	0	0.0661	0	0	0.5434	0.4773	1.1385
$T = 400^{\circ}F$							
1.35	9154.40	0.188464	0.014170	0.136529	0.7351	0.5467	1.3446
1.50	7016.41	0.207785	0.015548	0.157228	0.7558	0.5480	1.3792
1.70	5436.86	0.224103	0.017728	0.175727	0.7743	0.5502	1.4073
2.00	4178.21	0.233388	0.020283	0.187567	0.7861	0.5528	1.4220
2.50	3137.04	0.228233	0.022135	0.184262	0.7829	0.5546	1.4116
3.00	2573.89	0.213717	0.022154	0.169766	0.7684	0.5547	1.3853
4.50	1745.03	0.169677	0.019024	0.122878	0.7215	0.5515	1.3083
6.00	1343.62	0.141716	0.016098	0.091709	0.6903	0.5486	1.2583
9.00	929+079	0.113575	0.011880	0.059350	0.6580	0.5444	1.2087
15.00	577.615	0.092721	0.007681	0.034297	0.6329	0.5402	1.1716
25.00	355.001	0.081337	0.004807	0.020039	0.6186	0.5373	1.1513
50.00	180.905	0.073436	0.002478	0.009809	0.6084	0.5330	1.1372
	0	0.0661	0	0	0.5986	0.5325	1.1241
V	P	c <sup>p</sup> -c <sup>4</sup>	c <sub>v</sub> -c <sub>v</sub> *	°p <sup>-°</sup> p <sup>*</sup>	с <sub>р</sub>	c <sup>A</sup>	ep/cv
ft <sup>3</sup> /#-mole	psia	Btu/#, °F	Btu/#,°F	Btu/#, F	Btu/#, <sup>0</sup> F	Btu/#, 14	an <u>u un sta</u> ndu standu standu standu

,

7

•

.

TABLE 3 (C	ontinued)		n na de Dandanska na stele sem skala stale st	yanga dan padi kerupan pengenadakan digenangan dakin pendekin pendekin pendekin pendekin pendekin pendekin pen		Calculat	ed Data
v	P	cp-cv	cv-cv*	cp-cp*	cp	cv	cp/cv
ft <sup>3</sup> /#mole	psia	Btu/# . °F	Btu/r, <sup>o</sup> F	Btu/#,°F	Btu/#, <sup>o</sup> F	Btu/#,⁰F	the states of th
$\mathbf{T} = 500^{\circ}\mathbf{F}$							
1.35	11756.5	0.171546	0.010186	0.115627	0.7666	0.5951	1.2882
1.50	9069.78	0.184186	0.011177	0.129258	0.7803	0.5961	1.3090
1.70	7017.55	0.193425	0.012740	0.140063	0.7911	0.5976	1.3238
2.00	533 <b>7.3</b> 1	0.197052	0.014580	0.145527	0.7965	0.5995	1.3286
2.50	3928.63	0.189247	0.015911	0.139053	0.7910	0.6008	1.3166
3.00	3169.61	0.177263	0.015925	0.127082	0.7781	0.6008	1.2951
4.50	2080.81	0.144949	0.013790	0.092635	0.7436	0.5987	1.2420
6.00	1575.06	0.124684	0.011572	0.070150	0.7211	0.5965	1.2089
9.00	1070.76	0.103729	0.008540	0.046164	0.6972	0.5934	1.1749
15.00	656.966	0.087627	0.005521	0.027038	0.6780	0.5904	1.1484
25.00	400.686	0.078562	0.003456	0.015913	0.6669	0.5884	1.1334
50.00	203.049	0.072152	0.001782	0.007829	0.6588	0.5867	1.1229
	0	0.0661	0	0	0.6510	0.5849	1,1130

,

TABLE 3 (C	ontinued)	an de a de Tenen d'Andréa de La contra de la contra de la constitución de la constitución de la constitución de	an a	anteresting and provident at the second s	an the second state of the second	Calculat	ted Data
$T = 600^{\circ}F$							
1.50	10447.2	0.163724	0.008302	0.110920	0.8109	0.6422	1.2627
1.70	8611.09	0.173982	0.009465	0.117343	0.8173	0.6434	1.2703
1.85	7395-43	0.174768	0.010224	0.118887	0.8189	0.6441	1.2714
2.00	6505.14	0.173920	0.010830	0.118918	0.8189	0.6447	1.2702
2.50	4721.97	0.165686	0.011818	0.111399	0.8114	0.6457	1.2566
3.00	3764.10	0.155275	0.011828	0.100998	0.8010	0.6457	1.2405
4.50	2413.81	0.129575	0.010244	0.073714	0.7737	0.6441	1.2012
9.00	1211.12	0.097170	0.006343	0.037409	0.7374	0.6402	1.1518
15.00	735.749	0.084114	0.004100	0.022110	0.7221	0.6380	1,1318
25.00	446.149	0.076620	0.002567	0.013082	0.7131	0.6365	1.1203
50.00	225.134	0.071241	0.001323	0.006460	0.7065	0.6352	1.1122
	0	0.0661	0	0	0.7000	0.6339	1.1043
V	Р	°p-° <b>v</b>	° <b>~~°</b> *	°p <sup>-c</sup> p <sup>*</sup>	<b>c</b> <sub>p</sub>	c,	c <sub>p</sub> /c <sub>v</sub>
ft <sup>3</sup> /#-mole	psia	Btu/#,°F	Btu/#,°F	Btu/#,°F	Btu/#,°	F Btu/#, <sup>o</sup> F	an gung said i dhaan ga kan a Ramada ay shadadaa

TABLE 3 (C	Continued)		1949 - 1949 - 1949 - 1949 - 1949 - 1949 - 1949 - 1949 - 1949 - 1949 - 1949 - 1949 - 1949 - 1949 - 1949 - 1949 -			Calculated	Deta
$\underline{T} = 800^{\circ} F$							
1.70	11,821.4	0.150598	0.005635	0.090128	0.2783	0.7277	1.2069
2.00	8,854.78	0.147371	0.006447	0.087713	0.8759	0.7285	1.2023
3.00	-+,950.86	0.130156	0.007041	0.071092	0.8593	0.7291	1.1786
4.50	3,074.76	0.111612	0.006098	0.051605	0.8398	0.7282	1.1533
6.00	2,258.51	0.101041	0.005117	0.040054	0.8283	0.7272	1.1390
9.00	1,489.46	0.039248	0.003776	0.026714	0.8149	0.7259	1.1226
15.00	892.286	0.079645	0.002441	0.015981	0.8042	0.7245	1.1100
25.00	536.670	0.074104	0.001528	0.009527	0.7977	0.7236	1.1024
50.00	269.196	0.070073	0.000788	0.004756	0.7930	0.7229	1.0970
	0	0.0661	0	0	0.7882	0.7221	1.0915
V	P	°p <sup>-c</sup> v	° <b>√</b> −°√*	c <sub>p</sub> -c <sub>p</sub> *	$\mathbf{c}_{\mathbf{p}}$	° <b>v</b>	$c_p/c_v$
ft <sup>3</sup> /#-mole	psia	Btu/#,°F	Btu/#, °F	Btu/#, F	Btu/#,	F Bta/#, F	

TABLE 3 (Co	ontinued)					Calc	ulated Data
$T = 1000^{\circ}F$							
2.00	11211.3	0.132305	0.004143	0.070344	0.9359	0.8036	1.1646
3.00	6135.93	0.116267	0.004525	0.054687	0.9203	0.3040	1.1447
4.50	3731.86	0.101507	0.003919	0.039327	0.9049	0.8034	1.1264
6.00	2709.66	0.093120	0.003288	0.030304	0.8959	0.8028	1.1160
9.00	1765.98	0.084099	0.002427	0.020421	0.8860	0.8019	1.1049
12.00	1319.39	0.079680	0.001908	0.015484	0.8811	0.8014	1.0995
15.00	1048.31	0.076935	0.001569	0.012399	0.8780	0.8011	1.0960
25.00	626.883	0.071797	0.000982	0.006675	0.8723	0.8005	1.0897
	0	0.0661	0	0	0.3656	0.7995	1.0827
$\underline{T} = 1400^{\circ}F$							
2.00	14261.5	0.133982	0.002003	0.069880	1.0613	0.9273	1.1445
3.00	8503.99	0.101420	0.002188	0.037503	1.0289	0.9275	1.1093
4-50	5040.77	0.090571	0.001895	0.026361	1.0178	0.9272	1.0977
6.00	3607.97	0.084827	0.001590	0.020312	1.0117	0.9269	1.0915
9.00	2322.83	0.078821	0.001173	0.013889	1.0053	0.9265	1.0851
15.00	1358.73	0.073442	0.000759	0.008096	0.9995	0.9261	1.0793
25.00	806.896	0.070755	0.000475	0.005125	0.9965	0.9258	1.0764
	0	0.0661	0	0	0.9914	0.9253	1.0714
V	P	°p <sup>-c</sup> v	c <sub>v</sub> −c <sub>v</sub> *	cp-cp*	cp	° <sub>₹</sub>	c <sub>p</sub> /c <sub>v</sub>
ft <sup>3</sup> /#-mole	psia	Btu/#, <sup>°</sup> F	Btu/#,°F	Btu/#, F	Btu/#,°F	Btu/#,°F	

			TURNE C						
Calculate	d Data		Using Barkelew et.al. Constants (16)						
V	P	cp-cv	cv-cv*	cp -cp*	cp	C.	cp/cv		
ft <sup>-</sup> /#-mole	psia	Btu/#, F	Btu/#, F	Btu/#, F	Btu/#, F	Btu/#,	F		
$\underline{T} = 150^{\circ}F$									
6.00	749.287	0.307196	0.525546	0.293634	0.7517	0.4445	1.6912		
9.00	564.779	0.191906	0.038239	0.164099	0.6222	0.4302	1.4462		
15.00	374.655	0.128084	0.024488	0.086530	0.5446	0.4165	1.3078		
25.00	245.040	0.099171	0.015249	0.048374	0.5065	0.4072	1.2436		
50.00	125.042	0.081240	0.007833	0.023027	0.4811	0.3998	1.2034		
$T = 250^{\circ}F$									
6.00	997.632	0.196287	0.033316	0.163557	0.6788	0.4825	1.4070		
9.00	716.090	0.142713	0.024246	0.100912	0.6161	0.4734	1.3014		
15.00	461.844	0.109966	0.015527	0.059446	0.5746	0.4647	1.2367		
25.00	286.228	0.088900	0.009669	0.032523	0.5477	0.4589	1.1935		
$T = 300^{\circ}F$									
6.00	1143.94	0.155798	0.027161	0.116913	0.6604	0.5045	1.3090		
9.00	801.152	0.125342	0.019767	0.079062	0.6225	0.4971	1.2523		
15.00	503.088	0.099022	0.012658	0.045634	0.5891	0.4900	1.2022		
25.00	311.017	0.084811	0.007883	0.026648	0.5701	0.4852	1.1750		
$T = 400^{\circ}F$									
6.00	1353.58	0.140437	0.018743	0.093134	0.6917	0.5512	1.2549		
15.00	579.412	0.092461	0.008735	0.035149	0.6337	0.5412	1.1711		
50.00	181.062	0.073343	0.002794	0.010090	0.6087	0.5353	1.1371		
							-		

TABLE 4

				TABLE	5 5				
Calci	ulated	Value	es of	<u>cp-c</u>	<u>*                                    </u>	and	cp/cv	for	Etaane
from	Edats	ter Ge	neral	lizeá	Correl	atio	as (11.	.12.]	13.14)

cp-cp\*, Btu/#,°F

•

Pressure	sure Temperature, <sup>o</sup> F							
psia	145	200	255	310	420	530	750	915
100	0.0169	9.0126	0.0097	0.0074	0.0046	0+0030	0.0017	0.0011
200	0.0359	0.0265	0.0200	0.0151	0.0090	0.0060	0.0033	0.0022
300	0.0593	0.0426	0.0316	0.0233	0.0136	0.0095	0.0054	0.0032
400	0.0880	0.0602	0.0444	0.0320	0.0183	0.0127	0.0072	0.0043
500	0.126	0.0814	0.0582	0.0415	0.0235	0.0171	0.0091	0.0054
750	0.316	0.148	0.0980	0.0668	0.0370	0.0261	0.0141	0.0081
1000		0.246	0.144	0.0957	0.0515	0.0350	0.0188	0.0107
1500	1000 - 4000 - 4000	0.472	0.249	0.161	0.0830	0.0532	0.0279	0.0161
2000			0.306	0.221	0.115	0.0705	0.0359	0.0211
2500				0.239	0.142	0.0868	0.0427	0.0259

## TABLE 5 (Continued)

cp, Etu/#, °F

Pressure			1	emperatu	ire, <sup>o</sup> F			
psia	145	200	255	310	420	5:0	750	315
0	0.4554	0.4865	0.5180	0.5490	0.6091	0.6657	0.7700	0.8338
100	0.4723	0.4991	0.5277	0.5564	0.6137	0.6687	0.7717	0.8349
200	0.4913	0.5130	0.5380	0.5641	0.6181	0.6717	0.7733	0.8360
300	0.5147	0.5291	0.5496	0.5723	0.6227	0.6752	0.7754	0.8370
400	0.5434	0.5467	0.5624	0.5310	0.6274	0.6784	0.7772	0.8381
500	0.5814	0.5679	0.5762	0.5905	0.6326	0.6828	0.7791	0.8392
750	0.7714	0.6345	0.6160	0.6158	0.6461	0.6918	0.7841	0.8419
1000	-	0.7325	0.6620	0.6447	0.6606	0.7007	0.7838	0.8445
1500		0.9585	0.7670	0.7100	0.6921	0.7189	0.7979	0.8499
2000		and a state state.	0.8240	0.7700	0.7241	0.7362	0.8059	0.8549
2500		alitati viikiin dataan ay daa iyo dhaa dhiitaa	ener sitti sunt.	0.7880	0.7511	0.7525	0.8127	0.8597
ep/ev	(Values	approxit	nate sind	ce read	from gra	pia)		
Pressure			2	[emperation	ure, <sup>o</sup> F			
psia	100	250	300	400	500	600	an al a para di sa di sa da sa d	
100	1.190	1.158	1.148	1.135	1.125	1.105		
200	1.215	1.170	1.160	1.140	1.127	1.118		
300	1.258	1.185	1.175	1.145	1.135	1.125		
400	1.308	1.204	1.182	1.163	1.142	1.130		
500	1.377	1.240	1.200	1.175	1.152	1.138		
750	1.670	1.365	1.270	1.215	1.175	1.158		

	TABLE 6 Values of $c_p$ and $c_p-c_p^*$ of Ethane from Experimental Data (9.10)											
I	Sage,	Webster, Lacey Ind. Eng. Chem. <u>29</u> , No. 6,658 June 1937 (Graphical Data)										
	c <sub>p</sub> ,	Btu/#, F (Values are approximate since read from graph)										
	Pressi	ire,		T	'emperatu	re, <sup>o</sup> F						
	<u>psia</u>	50	75	100	125	150	175	200	225	250		
	200	0.460	0.465	0.472	0.481	0.492	0.505	0.515	0.528	0.542		
	300	0.528	0.510	0.503	0.505	0.515	0.525	0.535	0.545	0.560		
	400		0.572	0.545	0.540	0.545	0.550	0.560	0.567	0.578		
	500	ware and disp.	0.720	0.620	0.585	0.575	0.577	0.585	0.590	0.592		
	600		antes This wanty	0.795	0.666	0.623	0.610	0.613	0.620	0.628		
	700	and the state of the state			0.800	0.697	0.658	0.648	0.650	0.660		
	800					0.785	0.715	0.685	0.682	0.685		
	1000	- Lingth- cargin Traffics					0.883	0.810	0.787	0.780		
	0	0.4038	0.4175	0.4312	0.4447	0.4581	0.4722	0.4865	0.5009	0.5152		

6

,

TABLE 6 (Continued)

cp-cp\*, Btu/#,°F

Pressure,	Temperature, <sup>O</sup> F								
psia	50	75	100	125	150	175	200	225	250
200	0.056	0.047	0.041	0.036	0.034	0.033	0.028	0.027	0.027
300	0.124	0.092	0.072	0.060	0.057	0.053	0.048	0.044	0.045
400	with space matter.	0.154	0.114	0.095	0.087	0.078	0.073	0.066	0.063
500		0.302	0.189	0.140	0.117	0.105	0.098	0.089	0.077
600	1014-1010-Rofe-		0.364	0.221	0.165	0.138	0.126	0.119	0.113
700		anisti attan asilir	Tabletin iyyatir sigiligin	0.355	0.239	0.186	0.161	0.149	0.145
800		1944 - <b>1944 - 192</b> 5-	معتود الحيه مزاقد	Half - Half - State	0.327	0.243	0.198	0.181	0.170
1000			ilinde nimet staffen.			0.411	0.323	0.286	0.265

		ThE	LE 6 (Co	ntinued)						
II	Sage, Bu	ldenholze	r, Lace	y, Inc. 1	Eng. Cnea	n. <u>31</u> , 1:	2 <b>88</b>			
	(T	abulated	Data)				(1939)			
	c <sub>p</sub> , Btu	ı∕#,°F								
	Pressure	÷,		Tempera	ature, o	Ş				
	psia	70	100	130	160	190	220			
	0	0.417	0.433	0.445	0.465	0.482	0.498			
	250	0.484	0.489	0.497	0.506	0.519	0.534			
	500	0.765	0.620	0.585	0.575	0.579	0.588			
	750		- MARK- MARK-	0.869	0.706	0.671	0.665			
	1000			- and the same	0.993	0.817	0.795			
	1250		alaan sasaa sisaas	-	1.358	1.108	0.933			
	1500		dalla 2000 vast.		1.178	1.118	1.070			
	$c_p - c_p^*$ ,	Btu/#,	°F							
	Pressure		4	Temperatu	ire, <sup>o</sup> F	e, o <sub>F</sub>				
	psia	70	100	130	160	190	220			
	250	0.067	0.056	0.052	0.041	0+037	0.036			
	500	0.348	0.187	0.140	0.110	0.097	0.090			
	750			0.424	0.241	0.189	0.167			
	1000	agadan kantigan kakigan-		antisi annis inter	0.528	0.335	0.297			
	1250	2000 ALL 1900		ande angé timi.	0.893	0.626	0.435			

------

1500

------

-----

62

0.636 0.572

0.713
### TABLE 7

# Values of Isobaric deat Capacity of Ethane in the

Ideal Gas State for Various Temperatures

Rossini et.al. "Selected Values of Physical & Thermodynamic Properties of Hydrocarbons and Related Compounds", (1953) Carnegie Press (Continuation of Work on American Petroleum Institute Research Project 44 at National Bureau of Standards, Washington, D. C.)(8)

Temperature, <sup>o</sup> F	°p <sup>*</sup> Btu/#. °F
-459.69	0.0000
0	0.3769
32	0.3940
60	0.4092
100	0.4312
150	0.4581
200	0.4865
250	0.5152
300	0.5434
350	0.5712
400	0,5986
500	0.6510
600	0.7000
700	0.7457
800	0.7882
900	0.8282
1000	0.8656
1100	0.9005
1200	0.9329
1300	0.9632
1400	0.9914
1500	1.018

## NOTATION

The symbols used are;

°p	Heat capacity at constant pressure, molal basis, Btu/#, F	
¢p	Heat capacity at constant pressure in Btu/#, ${}^{o}F$	
°p*	Heat capacity at constant pressure of the gas when exhibiting ideal gas behavior, molal basis, Btu/#-mole, F or #,ft /in , mole, R	
°p <sup>*</sup>	Heat capacity at constant pressure of the gas when exhibiting ideal gas behavior, Btu/#, F	
Cv	Heat capacity at constant volume, molal basis, Btu/#-mole, <sup>o</sup> F or #, ft <sup>5</sup> /in <sup>2</sup> , mole, <sup>o</sup> R	
ev	Heat capacity at constant volume, Btu/#, F	
C <b>∨</b> *	Heat capacity at constant volume of the gas when exhibiting ideal gas behavior, molal basis, Btu/#-mole, F	
°v*	Heat capacity at constant volume of the gas when exhibiting ideal gas behavior, $Btu/#_*F$	
p	Absolute pressure, #/square inch, psia	
R	Universal Gas Constant (See Table of Constants)	
Ţ	Absolute temperature, ${}^{O}R$ , (See Table of Constants for conversion from ${}^{O}F$ to ${}^{O}R$ )	
v	Molal Volume, cubic feet/#-mole	
A <sub>o</sub> , B <sub>o</sub> , C <sub>o</sub> ,		
a, b, c, 7,	Constants for Benedict-Webb-Rubin equa- tion of state (See Table of Constants)	
Δ¢p	= Cp - Cp <sup>*</sup> (Used in calculations by Edmister methods)	

## REFERENCES

Reference No.		
(1)	"Petrochemical Process Handbook", Petro Refiner, 32, No. 11, 130 November	oleum r (1953)
(2)	Sledjeski, E. C., Ind. Eng. Chem., <u>43</u> , No. 12, 2913 December	(1951)
(3)	Seifarth, J. II., Joffe, J., Ind. Eng. 44 No. 12, 2894 December	Chem. (1952)
(4)	Dailey, B. P., Felsing, T. A., Journa Am. Chem. Soc., <u>65</u> , 42	1 (1943)
(5)	Eucken, A., Meigert, K., Z. Physik Che B23, 265	m., (1933)
(6)	Wiebe, Hubbard, Brevcort, Journal Am. Soc., <u>52</u> , 622	Chem. (1930)
.(7)	Pitzer, K. S., Ind. Eng. Chem., <u>36</u> , 82	9 (1944)
(8)	Rossini et.al., "Selected Values of Ph and Thermodynamic Properties of carbons and Related Compounds", Carnegie Fress (Continuation of of American Petroleum Institute search Project 44 at National Bu of Standards, Washington, D.C.)	ysical Hydro- work Re- reau (1953)
(9)	Sage, B. H., Vebster, D. C., Lacey, V. Ind. Eng. Chem., 29, No. 6, 658 June	N., (1937)
(10)	Sage, B. H., Budenholzer, R. A., Lacey Ind. Eng. Chem., <u>31</u> , 1288	, <sup>()</sup> .1., (1939)
(11)	Edmister, . C., Ind. Eng. Chem., <u>30</u> , 352 March	No. 3, (1938)
(12)	Edmister, 1. C., "Applications of Ther dynamics to Hydrocarbon Processi Part XIII - Heat Capacities" pub by the Petroleum Refiner	mo- ng - lished (1948)

#### REFERENCES (Continued)

Reference No.

- (13) Edmister, W. C., "Applications of Thermodynamics to Hydrocarbon Processing -Part VII - Hydrocarbon Properties for Derivations" published by the Petroleum Refiner (1948)
- (14) Edmister, L. C., Ind. Eng. Chem. <u>32</u>, No. 3 373 March (1940)
- (15) Benedict, M., Nebb, G. N., Rubin, L. C., Journal Chem. Phys., 8, 354 (1940)
- (16) Barkelew, C. H., Valentine, J. L., Hurd, C. O., Trans. Am. Inst. Chem. Engrs., <u>43</u>, No. 1, 25 (1947)
- (17) Hougen, O. A., Watson, K. M., "Chemical Process Principles - Part II", John "iley and Sons, Inc., N.Y. (1947)
- (18) Von Vega, B., "Logarithmic Tables of Numbers and Trigonometrical Functions", D. Van Nostrand Company, Inc.
- (19) Selleck, F. T., Opfell, J. B., Sage, B. H., Ind. Eng. Chem., <u>45</u>, No. 6, 1350 June (1953)